



Stancu-Variant of Generalized Baskakov Operators

Nadeem Rao^{a,*}, Abdul Wafi^a

^aDepartment of Mathematics, Jamia Millia Islamia, New Delhi-110025, India

Abstract. In the present paper, we introduce Stancu-variant of generalized Baskakov operators and study the rate of convergence using modulus of continuity, order of approximation for the derivative of function f . Direct estimate is proved using K-functional and Ditzian-Totik modulus of smoothness. In the last, we have proved Voronovskaya type theorem.

1. Introduction

In 1998 V. Mihešan[8] constructed an important generalization of the well known Baskakov operators on $[0, \infty)$ with non-negative constant a independent of n ,

$$B_n^a(f; x) = \sum_{k=0}^{\infty} W_{n,k}^a(x) f\left(\frac{k}{n}\right), \quad (1)$$

where $f \in C[0, \infty)$ and

$$W_{n,k}^a(x) = e^{-\frac{ax}{1+x}} \frac{p_k(n, a)}{k!} \frac{x^k}{(1+x)^{k+n}}, \quad (2)$$

such that $\sum_{k=0}^{\infty} W_{n,k}^a(x) = 1$ and $p_k(n, a) = \sum_{i=0}^{\infty} \binom{n}{i} (n)_i a^{k-i}$, with $(n)_0 = 1$, $(n)_i = n(n+1)\dots(n+i-1)$.

In the last decade, many papers were published for generalized Baskakov operators on order of approximation, Voronovskaya type theorem, Kantorovich form, and order of approximation for the derivative of the function([13],[14]).

For $f \in C[0, \infty)$, Stancu[10] introduced the sequence of positive linear operators

$$B_n^{\alpha, \beta}(f; x) = \sum_{k=0}^n p_{n,k}(x) f\left(\frac{k+\alpha}{n+\beta}\right),$$

where $p_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}$ and α, β are any two non negative real numbers such that $0 \leq \alpha \leq \beta$. If $\alpha = \beta = 0$, it reduces to so called Bernstein operators. Recently, many researchers ([1],[4],[5],[6],[9],[11],[15]) have

2010 *Mathematics Subject Classification.* Primary 41A25 ; Secondary 41A36, 41A10

Keywords. Generalized Baskakov operators, Modulus of continuity, Ditzian-Totik modulus of smoothness, Voronovskaya.

Received: 13 March 2015; Accepted: 04 June 2015

Communicated by Snežana Živković-Zlatanović

Corresponding Author: Nadeem Rao

Email addresses: nadeemrao1990@gmail.com (Nadeem Rao), abdulwafi2k2@gmail.com (Abdul Wafi)

introduced Stancu-variant for different linear positive operators. Motivated by the above development, we are giving a Stancu-variant of the operators (1) as:

$$L_{n,a}^{\alpha,\beta}(f; x) = \sum_{k=0}^{\infty} W_{n,k}^a(x) f\left(\frac{k + \alpha}{n + \beta}\right), \tag{3}$$

where $W_{n,k}^a(x)$ is defined in (2) and $0 \leq \alpha \leq \beta$. For $\alpha = \beta = 0$, we get the operators (1).

2. Approximation Properties of $L_{n,a}^{\alpha,\beta}$

To prove the approximation properties of $L_{n,a}^{\alpha,\beta}$, we need the following lemma[13].

Lemma 2.1. For $a, x \geq 0, n = 1, 2, \dots$, we have

$$\begin{aligned} B_n^a(1; x) &= 1, \\ B_n^a(t; x) &= x + \frac{ax}{n(1+x)}, \\ B_n^a(t^2; x) &= \frac{x^2}{n} + \frac{x}{n} + x^2 + \frac{a^2x^2}{n^2(1+x)^2} + \frac{2ax^2}{n(1+x)} + \frac{ax}{n^2(1+x)}, \\ B_n^a(t^3; x) &= x^3 + \frac{3x^2(1+x)}{n} + \frac{x(1+x)(1+2x)}{n^2} + \frac{3ax^3}{n(1+x)} + \frac{1}{n^2} \left(3ax^2 + \frac{3a^2x^3}{(1+x)^2} + \frac{3ax^2}{(1+x)} \right) \\ &\quad + \frac{1}{n^3} \left(\frac{ax}{1+x} + \frac{3a^2x^2}{(1+x)^2} + \frac{a^3x^3}{(1+x)^3} \right), \\ B_n^a(t^4; x) &= x^4 + \frac{6x^3(1+x)}{n} + \frac{x^2(1+x)(7+11x)}{n^2} + \frac{x(1+x)(6x^2+6x+1)}{n^3} + \frac{4ax^4}{n(1+x)} \\ &\quad + \frac{1}{n^2} \left(\frac{12ax^4}{(1+x)} + \frac{18ax^3}{(1+x)^2} \right) + \frac{1}{n^3} \left(\frac{8ax^4}{1+x} + \frac{6a^2x^4}{(1+x)^2} + \frac{4a^3x^4}{(1+x)^3} + \frac{18ax^3}{(1+x)} + \frac{18a^2x^3}{(1+x)^2} + \frac{14ax^2}{(1+x)} \right) \\ &\quad + \frac{1}{n^4} \left(\frac{ax}{1+x} + \frac{7a^2x^2}{(1+x)^2} + \frac{6a^3x^3}{(1+x)^3} + \frac{a^4x^4}{(1+x)^4} \right). \end{aligned}$$

Next, we prove

Lemma 2.2. Let $a, x \geq 0$ and $n = 1, 2, 3, \dots$. Then for the operators defined in (3), we have

$$\begin{aligned} (i) \quad L_{n,a}^{\alpha,\beta}(1; x) &= 1, \\ (ii) \quad L_{n,a}^{\alpha,\beta}(t; x) &= \frac{n}{n+\beta}x + \frac{a}{n+\beta} \frac{x}{1+x} + \frac{\alpha}{n+\beta}, \\ (iii) \quad L_{n,a}^{\alpha,\beta}(t^2; x) &= \frac{n^2+n}{(n+\beta)^2}x^2 + \frac{n(1+2\alpha)}{(n+\beta)^2}x + \frac{a^2}{(n+\beta)^2} \frac{x^2}{(1+x)^2} + \frac{2an}{(n+\beta)^2} \frac{x^2}{(1+x)} + \frac{a(1+2\alpha)}{(n+\beta)^2} \frac{x}{1+x} + \frac{\alpha^2}{(n+\beta)^2}, \\ (iv) \quad L_{n,a}^{\alpha,\beta}(t^3; x) &= \frac{n^3+3n^2+2n}{(n+\beta)^3}x^3 + \frac{n^2(3+3\alpha)+n(3+3\alpha+3a)}{(n+\beta)^3}x^2 + \frac{n(1+3\alpha+3a^2)}{(n+\beta)^3}x + \frac{3an^2}{(n+\beta)^3} \frac{x^3}{(1+x)} \\ &\quad + \frac{n}{(n+\beta)^3} \left(\frac{3a^2x^3}{(1+x)^2} + \frac{3ax^2}{1+x} + \frac{6a\alpha x^2}{1+x} \right) + \frac{1}{(n+\beta)^3} \left(\frac{ax}{1+x} + \frac{3a^2x^2}{(1+x)^2} + \frac{a^3x^3}{(1+x)^3} \right) \\ &\quad + \frac{3aa^2x^2}{(1+x)^2} + \frac{3a^2ax}{1+x} + \alpha^3, \end{aligned}$$

$$\begin{aligned}
 (v) \quad L_{n,a}^{\alpha,\beta}(t^4;x) &= \frac{n^4 + 6n^3 + 11n^2 + 6n}{(n + \beta)^4}x^4 + \frac{(6 + 4\alpha)n^3 + (18 + 12\alpha)n^2 + (9 + 8\alpha)n}{(n + \beta)^4}x^3 + \left(\frac{(7 + 12\alpha + 6\alpha^2)n^2}{(n + \beta)^4} \right. \\
 &+ \left. \frac{(7 + 12\alpha + 12\alpha a + 6\alpha^2)n}{(n + \beta)^4} \right)x^2 + \frac{(1 + 4\alpha + 6\alpha^2 + 4\alpha^3)n}{(n + \beta)^4}x + \frac{4an^3 + 12an^2 + 8an}{(n + \beta)^4} \frac{x^4}{1 + x} \\
 &+ \frac{6a^2n^2 + 6a^2n}{(n + \beta)^4} \frac{x^4}{(1 + x)^2} + \frac{4a^3n}{(n + \beta)^4} \frac{x^4}{(1 + x)^3} + \frac{a^4}{(b + \beta)^4} \frac{x^4}{(1 + x)^4} + \frac{18an^2 + 18an}{(n + \beta)^4} \frac{x^3}{(1 + x)} \\
 &+ \frac{(18a^2 + 12a^2\alpha)n}{(n + \beta)^4} \frac{x^3}{(1 + x)^2} + \frac{6a^3 + 4\alpha a^3}{(n + \beta)^4} \frac{x^3}{(1 + x)^3} + \frac{(12a\alpha^2 + 12a\alpha + 14a)n}{(n + \beta)^4} \frac{x^2}{(1 + x)} \\
 &+ \frac{7a^2 + 12a^2\alpha + 6a^2\alpha^2}{(n + \beta)^4} \frac{x^2}{(1 + x)^2} + \frac{a + 4\alpha a + 6\alpha^2 a + 4\alpha^3 a}{(n + \beta)^4} \frac{x}{1 + x} + \frac{\alpha^4}{(n + \beta)^4}.
 \end{aligned}$$

Proof To prove these identities, we use the lemma(2.1) and linearity property

$$L_{n,a}^{\alpha,\beta}(t; x) = \frac{n}{n + \beta}B_n^a(t; x) + \frac{\alpha}{n + \beta}B_n^a(1; x).$$

In similar manner, we can prove identities (iii), (iv) and (v).

Lemma 2.3. Let $\psi_x^i(t) = (t - x)^i, i = 1, 2, 3, \dots$ For $a, x \geq 0$ and $n = 1, 2, 3, \dots$,

$$\begin{aligned}
 L_{n,a}^{\alpha,\beta}(\psi_x^0(t); x) &= 1, \\
 L_{n,a}^{\alpha,\beta}(\psi_x^1(t); x) &= \left(\frac{n}{n + \beta} - 1 \right)x + \frac{a}{n + \beta} \frac{x}{1 + x} + \frac{\alpha}{n + \beta}, \\
 L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x) &= \frac{n + \beta^2}{(n + \beta)^2}x^2 + \frac{n - 2\alpha\beta}{(n + \beta)^2}x + \frac{a^2}{(n + \beta)^2} \frac{x^2}{(1 + x)^2} - \frac{2a\beta}{(n + \beta)^2} \frac{x^2}{(1 + x)} + \frac{a(1 + 2\alpha)}{(n + \beta)^2} \frac{x}{1 + x} + \frac{\alpha^2}{(n + \beta)^2}, \\
 L_{n,a}^{\alpha,\beta}(\psi_x^4(t); x) &= \frac{(3 - 12\beta)n^2 + (6 + 4\beta + 2\beta^2 + 4\beta^3)n + \beta^4}{(n + \beta)^4}x^4 + \left(\frac{(6 - 12a - 12\beta)n^2 + (9 + 8\alpha - 12\beta(1 + a + \alpha + \alpha\beta))n}{(n + \beta)^4} \right. \\
 &+ \left. \frac{(6 - 12a - 12\beta - 12\alpha\beta^2)}{(n + \beta)^4} \right)x^3 + \frac{3n^2 + (7 - 4\beta + 12\alpha a - 12\alpha\beta + 6\alpha^2)n + 6\alpha^2\beta^2}{(n + \beta)^4}x^2 \\
 &+ \frac{(1 + 4\alpha + 6\alpha^2)n - 4\alpha^3\beta}{(n + \beta)^4}x + \frac{12an^2 + 8an - 4a\beta^3}{(n + \beta)^4} \frac{x^4}{(1 + x)} + \frac{6a^2n + 6a^2\beta^2}{(n + \beta)^4} \frac{x^4}{(1 + x)^2} - \frac{4a^3\beta}{(n + \beta)^4} \frac{x^4}{(1 + x)^3} \\
 &+ \frac{a^4}{(n + \beta)^4} \frac{x^4}{(1 + x)^4} + \frac{12an^2 + 18an + 6a(1 + 2\alpha)\beta^2}{(n + \beta)^4} \frac{x^3}{1 + x} + \frac{6a^2n - (12a^2 + 12\alpha a^2)\beta}{(n + \beta)^4} \frac{x^3}{(1 + x)^2} \\
 &+ \frac{(6a^3 + 4\alpha a^3)}{(n + \beta)^4} \frac{x^3}{(1 + x)^3} + \frac{(12a\alpha + 8a - 6a\alpha^2)n - (6a + 18a^2a)\beta}{(n + \beta)^4} \frac{x^2}{1 + x} + \frac{7a^2 + 12a^2\alpha + 6a^2\alpha^2}{(n + \beta)^4} \frac{x^2}{(1 + x)^2} \\
 &+ \frac{(a) + 4\alpha a + 6\alpha^2 a + 4\alpha^3 a}{(n + \beta)^4} \frac{x}{1 + x} + \frac{\alpha^4}{(n + \beta)^4}.
 \end{aligned}$$

Proof In view of lemma(2.2) and using the equalities,

$$\begin{aligned}
 L_{n,a}^{\alpha,\beta}(\psi_x(t); x) &= L_{n,a}^{\alpha,\beta}(t; x) - xL_{n,a}^{\alpha,\beta}(1; x), \\
 L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x) &= L_{n,a}^{\alpha,\beta}(t^2; x) - 2xL_{n,a}^{\alpha,\beta}(t; x) + x^2L_{n,a}^{\alpha,\beta}(1; x), \\
 L_{n,a}^{\alpha,\beta}(\psi_x^4(t); x) &= L_{n,a}^{\alpha,\beta}(t^4; x) - 4xL_{n,a}^{\alpha,\beta}(t^3; x) + 6x^2L_{n,a}^{\alpha,\beta}(t^2; x) + 4x^3L_{n,a}^{\alpha,\beta}(t; x) + x^4L_{n,a}^{\alpha,\beta}(1; x).
 \end{aligned}$$

we get the proof of this lemma.

Lemma 2.4. Let $\psi_x^i(t) = (t - x)^i, i = 1, 2, 3, \dots$ For $a, x \geq 0$ and $n = 1, 2, 3, \dots$, we have

$$\begin{aligned} \lim_{n \rightarrow \infty} nL_{n,a}^{\alpha,\beta}(\psi_x^1(t); x) &= \alpha - \beta x + a \frac{x}{1+x}, \\ \lim_{n \rightarrow \infty} nL_{n,a}^{\alpha,\beta}(\psi_x^2(t); x) &= x^2 + x, \\ \lim_{n \rightarrow \infty} n^2L_{n,a}^{\alpha,\beta}(\psi_x^4(t); x) &= (3 - 12\beta)x^4 + (6 - 12a - 12\beta)x^3 + 3x^2 + 12a \frac{x^2}{1+x} + 12a \frac{x^3}{1+x}. \end{aligned}$$

3. The Degree of Approximation

Theorem 3.1. If $f \in C[0, \infty)$, $x \in [0, \infty)$ and $\omega(f; \delta)$ is the modulus of continuity, then

$$|L_{n,a}^{\alpha,\beta}(f; x) - f(x)| \leq \left\{ 1 + \sqrt{\gamma_{n,a}^{\alpha,\beta}(x)} \right\} \omega(f; \delta_{n,\beta}),$$

where $\delta_{n,\beta} = (n + \beta)^{-\frac{1}{2}}$ and

$$\gamma_n^{\alpha,\beta}(x) = \frac{n + \beta^2}{n + \beta} x^2 + \frac{n - 2\alpha\beta}{n + \beta} x + \frac{a^2}{n + \beta} \frac{x^2}{(1+x)^2} - \frac{2a\beta}{n + \beta} \frac{x^2}{(1+x)} + \frac{a(1+2\alpha)}{n + \beta} \frac{x}{1+x} + \frac{\alpha^2}{n + \beta}.$$

Proof Let $f \in C[0, \infty)$ and $x \geq 0$. Then, using linearity property and monotonicity of the operators defined by (3), we can easily find, for every $\delta > 0$, and $n \in \mathbb{N}$, that

$$\begin{aligned} |L_{n,a}^{\alpha,\beta}(f; x) - f(x)| &\leq \left\{ 1 + \delta_{n,\beta}^{-1} \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2; x)} \right\} \omega(f; \delta_{n,\beta}). \\ &\leq \left\{ 1 + \sqrt{\frac{n + \beta^2}{n + \beta} x^2 + \frac{n - 2\alpha\beta}{n + \beta} x + \frac{a^2}{n + \beta} \frac{x^2}{(1+x)^2} - \frac{2a\beta}{n + \beta} \frac{x^2}{(1+x)} + \frac{a(1+2\alpha)}{n + \beta} \frac{x}{1+x} + \frac{\alpha^2}{n + \beta}} \right\} \omega(f; \delta_{n,\beta}), \end{aligned}$$

which obtained by using Lemma 2.2 and choosing $\delta_{n,\beta} = (n + \beta)^{-\frac{1}{2}}$. Thus, we arrive at the result.

Remark 3.2. If we put $\alpha = \beta = 0$, we find the same result given by Mihešan[8]

$$|B_n^a(f; x) - f(x)| \leq \left\{ 1 + \sqrt{x(1+x) + \frac{ax}{n(1+x)} \frac{(a+1)x+1}{(1+x)}} \right\} \omega(f; \delta),$$

where $\delta = \frac{1}{\sqrt{n}}$, which shows that $\delta_{n,\beta} \leq \delta$. Therefore, rate of convergence of $L_{n,a}^{\alpha,\beta}$ is better than B_n^a .

Now, we will find the rate of convergence of operators defined by (3) in terms of modulus of continuity of first derivative of function i.e. $\omega(f'; \delta_{n,\beta}) = \omega_1(f; \delta_{n,\beta})$, which is an improvement over the Theorem 3.1. This type of result was given for Bernstein polynomials by Lorentz ([7], p.p. 21).

Theorem 3.3. Let $f'(x)$ is the continuous derivative over $[0, \infty)$ and $\omega_1(f; \delta_{n,\beta})$ is the modulus of continuity of $f'(x)$. Then, for $a, x \geq 0, 0 \leq \alpha \leq \beta$, we have

$$|L_{n,a}^{\alpha,\beta}(f; x) - f(x)| \leq \omega_1((n + \beta)^{-1}) \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x)} \left\{ 1 + \sqrt{(n + \beta)} \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x)} \right\}.$$

Proof For $x_1, x_2 \in [a, b]$, we have

$$\begin{aligned} f(x_1) - f(x_2) &= (x_1 - x_2)f'(\xi), \\ &= (x_1 - x_2)f'(x_1) + (x_1 - x_2)[f'(\xi) - f'(x_1)], \end{aligned} \tag{4}$$

where $x_1 < \xi < x_2$. As we know that

$$|(x_1 - x_2)[f'(\xi) - f'(x_1)]| \leq |x_1 - x_2|(\lambda + 1)\omega_1(\delta), \quad \lambda = \lambda(x_1, x_2; \delta).$$

Next, we get

$$|L_{n,a}^{\alpha,\beta}(f; x) - f(x)| = \left| \sum_{n=0}^{\infty} W_{n,k}^a(x) \left\{ f\left(\frac{k+\alpha}{n+\beta}\right) - f(x) \right\} \right|. \tag{5}$$

From (4) and (5), we obtained

$$\begin{aligned} |L_{n,a}^{\alpha,\beta}(f; x) - f(x)| &\leq \left| \sum_{n=0}^{\infty} W_{n,k}^a(x) \left(\frac{k+\alpha}{n+\beta} - x\right) f'(x) \right| + \omega_1(\delta_{n,\beta}) \sum_{k=0}^{\infty} \left| \frac{k+\alpha}{n+\beta} - x \right| (\lambda + 1) W_{n,k}^a(x), \\ &\leq \omega_1(\delta_{n,\beta}) \left\{ \sum_{k=0}^{\infty} \left| \frac{k+\alpha}{n+\beta} - x \right| W_{n,k}^a(x) + \sum_{\lambda \geq 1} \left| \frac{k+\alpha}{n+\beta} - x \right| \lambda \left(x_1, \frac{k+\alpha}{n+\beta}; \delta\right) W_{n,k}^a(x) \right\} \\ &\leq \omega_1(\delta_{n,\beta}) \left\{ \sum_{k=0}^{\infty} \left| \frac{k+\alpha}{n+\beta} - x \right| W_{n,k}^a(x) + \delta^{-1} \sum_{k=0}^{\infty} \left(\frac{k+\alpha}{n+\beta} - x\right)^2 W_{n,k}^a(x) \right\} \\ &\leq \omega_1(\delta_{n,\beta}) \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x)} \left\{ 1 + \delta_{n,\beta}^{-1} \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x)} \right\}. \end{aligned}$$

Taking $\delta_{n,\beta} = (n + \beta)^{-1}$, we get

$$|L_{n,a}^{\alpha,\beta}(f; x) - f(x)| \leq \omega_1((n + \beta)^{-1}) \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x)} \left\{ 1 + \sqrt{(n + \beta)} \sqrt{L_{n,a}^{\alpha,\beta}(\psi_x^2(t); x)} \right\},$$

which is the required result.

4. Direct Estimate

Here we introduced the Ditzian-Totik Modulus of smoothness[3] which is defined as:

$$\begin{aligned} \omega_{\varphi^\lambda}^2(f; \delta) &= \sup_{0 < h \leq \delta} \| \Delta_{h\varphi(x)}^2 f(x) \|, \\ &= \sup_{0 < h \leq \delta} \sup_{x \pm h\varphi^\lambda \in [0, \infty)} |f(x - h\varphi^\lambda(x)) - 2f(x) + f(x + h\varphi^\lambda(x))|, \end{aligned}$$

where $\varphi^2(x) = x(1 - x)$. And, Peetre’s K-functional is given by

$$K_{\varphi^\lambda}(f, \delta^2) = \inf_g \left(\|f - g\|_{C[0, \infty)} + \delta^2 \|\varphi^2 \lambda g''\|_{C[0, \infty)} \right), \quad g, g' \in AC_{loc}. \tag{6}$$

The K-functional is equivalent to the modulus of smoothness, i.e.,

$$C^{-1}K_{\varphi^\lambda}(f, \delta^2) \leq \omega_{\varphi^\lambda}^2(f, \delta) \leq CK_{\varphi^\lambda}(f, \delta^2). \tag{7}$$

First result based on Ditziaz-Totik modulus of smoothness was given by Ditzian[2] for the Bernstein polynomials as:

$$|B_n(f; x) - f(x)| \leq C\omega_{\varphi^\lambda}^2(f, n^{-\frac{1}{2}}\varphi(x)^{1-\lambda}).$$

Now, we prove the similar result for the operator $L_{n,a}^{\alpha,\beta}$.

Theorem 4.1. For $a, x \geq 0$, and $0 \leq \alpha \leq \beta$, we have

$$|L_{n,a}^{\alpha,\beta}(f; x) - f(x)| \leq C\omega_{\varphi^\lambda}^2\left(f, (n + \beta)^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right) \text{ for large } n.$$

Proof Using (6),(7),we can choose $g_n \equiv g_{n,x,\lambda}$ for fixed x and $\lambda + 1$ such that

$$\| f - g \|_{C[0,\infty)} \leq A\omega_{\varphi^\lambda}^2\left(f, n^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right), \tag{8}$$

$$n^{-1}\varphi(x)^{2-2\lambda}\|\varphi^{2\lambda}g''\|_{C[0,\infty)} \leq B\omega_{\varphi^\lambda}^2\left(f, n^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right). \tag{9}$$

Next

$$\begin{aligned} |L_{n,a}^{\alpha,\beta}(f; x) - f(x)| &\leq |L_{n,a}^{\alpha,\beta}(f - g_n; x) - (f - g_n)(x)| + |L_{n,a}^{\alpha,\beta}(g_n; x) - g_n(x)|, \\ &\leq 2 \| f - g_n \|_{C[0,\infty)} + |L_{n,a}^{\alpha,\beta}(g_n; x) - g_n(x)|. \end{aligned}$$

From (8), we get

$$|L_{n,a}^{\alpha,\beta}(f; x) - f(x)| \leq 2A\omega_{\varphi^\lambda}^2\left(f, n^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right) + |L_{n,a}^{\alpha,\beta}(g_n; x) - g_n(x)|. \tag{10}$$

Now, the last term can be calculated by using Taylor’s formula

$$\begin{aligned} |L_{n,a}^{\alpha,\beta}(g_n(t) - g_n(x); x)| &\leq |g'_n(x)L_{n,a}^{\alpha,\beta}((t - x); x)| + \left|L_{n,a}^{\alpha,\beta}\left(\int_t^x (x - u)g''_n(u)du; x\right)\right| \\ &\leq L_{n,a}^{\alpha,\beta}\left(\frac{|x - \frac{k}{n}|}{\varphi^{2\lambda}(x)} \int_{\frac{k}{n}}^x \varphi^{2\lambda}(u)|g''_n(u)du; x\right) \\ &\leq \| \varphi^{2\lambda}g''_n \|_{C[0,\infty)} \frac{1}{\varphi^{2\lambda}(x)} L_{n,a}^{\alpha,\beta}((t - x)^2; x) \\ &\leq \| \varphi^{2\lambda}g''_n \|_{C[0,\infty)} \frac{1}{\varphi^{2\lambda}(x)} \left[\frac{n + \beta^2}{(n + \beta)^2}x^2 + \frac{n - 2\alpha\beta}{(n + \beta)^2}x + \frac{a^2}{(n + \beta)^2} \frac{x^2}{(1 + x)^2} - \frac{2a\beta}{(n + \beta)^2} \frac{x^2}{(1 + x)} \right. \\ &\quad \left. + \frac{a(1 + 2\alpha)}{(n + \beta)^2} \frac{x}{1 + x} + \frac{\alpha^2}{(n + \beta)^2} \right] \\ &\leq \| \varphi^{2\lambda}g''_n \|_{C[0,\infty)} \frac{x(1 + x)(n + \beta)^{-1}}{\varphi^{2\lambda}(x)} \left[\frac{n + \beta^2}{(n + \beta)} \frac{x}{1 + x} + \frac{n - 2\alpha\beta}{(n + \beta)} \frac{1}{1 + x} + \frac{a^2}{(n + \beta)} \frac{x}{(1 + x)^3} \right. \\ &\quad \left. - \frac{2a\beta}{(n + \beta)} \frac{x}{(1 + x)^2} + \frac{a(1 + 2\alpha)}{(n + \beta)} \frac{1}{(1 + x)^2} + \frac{\alpha^2}{(n + \beta)x(1 + x)} \right] \\ &\leq \| \varphi^{2\lambda}g''_n \|_{C[0,\infty)} \varphi^{2-2\lambda}(x)(n + \beta)^{-1} \left[\frac{n + \beta^2}{(n + \beta)} \frac{x}{1 + x} + \frac{n - 2\alpha\beta}{(n + \beta)} \frac{1}{1 + x} + \frac{a^2}{(n + \beta)} \frac{x}{(1 + x)^3} \right. \\ &\quad \left. - \frac{2a\beta}{(n + \beta)} \frac{x}{(1 + x)^2} + \frac{a(1 + 2\alpha)}{(n + \beta)} \frac{1}{(1 + x)^2} + \frac{\alpha^2}{(n + \beta)x(1 + x)} \right]. \end{aligned}$$

From (9), we have

$$\begin{aligned} |L_{n,a}^{\alpha,\beta}(g_n(t) - g_n(x); x)| &\leq B\omega_{\varphi^\lambda}^2\left(f, (n + \beta)^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right) \left[\frac{n + \beta^2}{(n + \beta)} \frac{x}{1 + x} + \frac{n - 2\alpha\beta}{(n + \beta)} \frac{1}{1 + x} + \frac{a^2}{(n + \beta)} \frac{x}{(1 + x)^3} \right. \\ &\quad \left. - \frac{2a\beta}{(n + \beta)} \frac{x}{(1 + x)^2} + \frac{a(1 + 2\alpha)}{(n + \beta)} \frac{1}{(1 + x)^2} + \frac{\alpha^2}{(n + \beta)x(1 + x)} \right]. \tag{11} \end{aligned}$$

Using (10) and (11), we get

$$|L_{n,a}^{\alpha,\beta}(f(t) - f(x); x)| \leq M\omega_\lambda^2\left(f, (n + \beta)^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right) \left[\frac{n + \beta^2}{(n + \beta)} \frac{x}{1 + x} + \frac{n - 2\alpha\beta}{(n + \beta)} \frac{1}{1 + x} + \frac{a^2}{(n + \beta)} \frac{x}{(1 + x)^3} - \frac{2a\beta}{(n + \beta)} \frac{x}{(1 + x)^2} + \frac{a(1 + 2\alpha)}{(n + \beta)} \frac{1}{(1 + x)^2} + \frac{\alpha^2}{(n + \beta)x(1 + x)} \right]$$

where $M = \max(2A, B)$. For a large value of n

$$|L_{n,a}^{\alpha,\beta}(f(t) - f(x); x)| \leq M\omega_\lambda^2\left(f, (n + \beta)^{-\frac{1}{2}}\varphi(x)^{1-\lambda}\right).$$

Asymptotic relation is the study of rate of convergence for at least two times differentiable functions which was given by Voronovskaya [12]. Here, we prove a similar result.

Theorem 4.2. Let $a, x \geq 0, 0 \leq \alpha \leq \beta$ and $n \in \mathbb{N}$. For $f \in C^2[0, \infty)$, we have

$$\lim_{n \rightarrow \infty} n\{L_{n,a}^{\alpha,\beta}(f; x) - f(x)\} = \left(\alpha - \beta x + \frac{ax}{1 + x}\right)f'(x) + \frac{x^2 + x}{2}f''(x).$$

Proof Let $x, t \in [0, \infty), f \in C^2[0, \infty)$. By Taylor’s formula, we have

$$f(t) = f(x) + (t - x)f'(x) + \frac{(t - x)^2}{2}f''(x) + \eta(t, x)(t - x)^2,$$

where the function $\eta(t, x) \in C[0, \infty)$ and $\lim_{t \rightarrow x} \eta(t, x) = 0$. Multiplying both sides by $W_{n,k}^a(x)$ and summing over k , we get

$$L_{n,a}^{\alpha,\beta}(f; x) = f(x)L_{n,a}^{\alpha,\beta}(1; x) + f'(x)L_{n,a}^{\alpha,\beta}(t - x; x) + \frac{f''(x)}{2}L_{n,a}^{\alpha,\beta}((t - x)^2; x) + L_{n,a}^{\alpha,\beta}(\eta(t, x)(t - x); x).$$

Using lemma(2.2), we obtain

$$\lim_{n \rightarrow \infty} n\{L_{n,a}^{\alpha,\beta}(f; x) - f(x)\} = \left(\alpha - \beta x + \frac{ax}{1 + x}\right)f'(x) + \frac{x^2 + x}{2}f''(x) + \lim_{n \rightarrow \infty} nL_{n,a}^{\alpha,\beta}(\eta(t; x)(t - x)^2; x). \tag{12}$$

Now, the last term can be obtained using Holder’s inequality and lemma 2.4

$$nL_{n,a}^{\alpha,\beta}(\eta(t; x)(t - x)^2; x) \leq n^2L_{n,a}^{\alpha,\beta}((t - x)^4; x)L_{n,a}^{\alpha,\beta}(\eta(t; x)^2; x),$$

Let $\varphi(t; x) = \eta^2(t; x)$. Then, $\lim_{t \rightarrow x} \varphi(t; x) = 0$. Therefore,

$$\lim_{n \rightarrow \infty} nL_{n,a}^{\alpha,\beta}(\eta(t; x)(t - x)^2; x) = 0.$$

On substituting this value in equation (12) , we get the desired result.

Acknowledgment

The authors are thankful to the referee and editor for their valuable suggestions, which improves the understandability of the paper. First author is thankful to University Grant Commission(UGC), New Delhi-India, for financial support under UGC-BSR scheme.

References

- [1] A. Aral, T. Acar, Weighted approximation by new Bernstein-Chlodowsky-Gadjiev operators, *Filomat* 27 (2) (2013) 371-380.
- [2] Z. Ditzian, Direct estimate for Bernstein polynomials, *J. Approx. Theory* 79 (1) 1994 165-166.
- [3] Z. Ditzian, V. Totik, Moduli of smoothness, Springer Series in Computational Mathematics, 8. Springer-Verlag, New York, 1987.
- [4] V. Gupta, A Stancu variant of beta-Szasz operators, *Georgian Math. J.* 21 (1) (2014) 75-82.
- [5] V. Gupta, D.K. Verma, P.N. Agrawal, Simultaneous approximation by certain Baskakov-Durrremeyer-Stancu operators, *J. Egyptian Math. Soc.* 20 (3) (2012) 183-187.
- [6] V. Gupta, R.P. Agarwal, *Convergence Estimates in Approximation Theory*, Springer, Cham., 2014.
- [7] G.G. Lorentz, *Mathematical Expositions*, No. 8, Bernstein polynomials, University of Toronto Press, Toronto, 1953.
- [8] V. Miheșan, Uniform approximation with positive linear operators generated by generalised Baskakov method, *Automat. Comput. Appl. Math.* 7 (1) (1998) 34-37.
- [9] R. Paltanea, *Approximation Theory Using Positive Linear Operators*, Birkhauser, Boston Inc., Boston, MA, 2004.
- [10] D.D. Stancu, On a generalization of the Bernstein polynomials (Romanian), *Studia. Univ. Babeș-Bolyai Ser. Math.-Phys.* 14 (2) (1969) 31-45.
- [11] S. Sucu, E. Ibikli, Approximation by means of Kantorovich -Stancu type operators, *Numer. Funct. Anal. Optim.* 34 (5) (2013) 557-575.
- [12] E. Voronovskaja, Determination de la forme asymptotique d'approximation des fonction par polynomes de M. Bernstein, *C. R. Acad. Sci. URSS* 79 (1932) 79-85.
- [13] A. Wafi, S. Khatoon, Convergence and Voronovskaja-type theorems for derivatives of generalized Baskakov operators, *Cent. Eur. J. Math.* 6 (2) 2008 325-334.
- [14] A. Wafi, S. Khatoon, On the order of approximation of functions by generalized Baskakov operators, *Indian J. pure appl. Math.* 35 (3) 2004 347-358.
- [15] M. Wang, D. Yu, P. Zhou, On the approximation by operators of Bernstein-Stancu types, *Appl. Math. Comput.* 246 (2014) 79-87.